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SPL vs Freq

—— b5: System, 1W, 1m, + Notch-Filter
—— 6: System, 1W, 10m, + Notch-Filter
—— 7: System, 1W, 1m,

L E H F Crossover Person: Project: Apr 21, 2010 L I N E A R x
520350 Apri2ozoo7 | Shop Company: Flle: Beyma 2way 15G40_SMC60_TD590 v2.1@d Wed 12:36 pm fs Y s T E M S




Voltage vs Freq

—— 4: VoltTF 15G450
= 5: VOoItTF scm60 td590 spl
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Impedance vs Freq

—— 1: Zload on Low
— 2: Zload on High
—— 3: Zload all Parallel
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SPL vs Angle

90
105 75

—— 32: PIr@1.00KHz,10M,V Sum(C) = 35: PIr@2.50KHz,10M,V Sum(C)
= 33: PIr@1.40KHz,10M,V Sum(C) -~ 36: PIr@3.50KHz,10M,V Sum(C)
= 34: PIr@2.00KHz,10M,V Sum(C) == 37: PIr@5.00KHz,10M,V Sum(C)
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